H1/4

x# 4h A
& AT ﬁﬂtﬁ
EEERE 0 (2-3-4) 2EM/BERMERE
HHAEE
fir :

EBREX A

%/2 D\/)']ﬁkf‘ CP NN ’E/% ,{:.j{_'fbﬁ};’ﬂ%‘ ”f EJ/% :g/g

FEIEIS\E>B reswll

TR 104105801044 2 483t % %@ % P
EEHEE - A#BRF b 4 E—17
AXZBAZ
[RAZTEB R [IRAXAZ R BRAHNE/E4
h Vil 28 K
LIRAHGEHE BEHZLEE [IRAHEFAR X
Vi 7 iR
\=A e Lk =1 4= b R 7
51 2 AE
4% &,
Bk & B 42
hest B hoqe IOTTRIE e e
(#AEA)
(s AxE/45e [|sitazanig [(REFI/ALEH
R E HH g
URARRARE Cpemyer  Okeseus
(e derEx s [(MReg o [ Mieeppiiin
H B/ A
SR R
iR EE  RARETHE %ﬁ%*i“f/

[(BAAXEA

http://140.127.168.37/wtuc/zga pro/zgt002 prt.jsp?res id=3922 2017/10/13



H2/4

SEEER] . AERE
EEHR BE
sEREs 0 WA A IR LR ke st
104 & A 928 8 13 & 00 4 %
ERINIE 0y 5 28 8 18 & 00 4
| CACE A (B 4 A % 1 A) BEs#6
I A (B: 0 A %: 1 A)
Wik 8 A (B 0 A % 2 A) [ks#ma
smay 0 A (B0 0 A i 0 A
et WRN2E 34 (8: 4 A %: 30 A) Eus2s
6 A (B: 2 A Z: 4 A
Bie At A (B: 1 A & 0 A)
£33 49 A (BRFEFLmAK 100 A)
e %2/ BER/RE D24 E xn/2y O#msgk [
EBEE
0 g% LIAEAR
FEEIFAC
F 5 X b
SEEN
(e F4k)

AEBw T2010 X RN BALIEEZEZEHMALE ) BH2BRAMREX AR

RIEBERZERSH (HLR) » BFHERLGHEFEAE S F -
THEARRL - BRI PR -

(DB s T LB Ay
w7 BT L IRFRA/ B
FBE o BB ERL B
g B” Question pour un

Champion” (HE#%

I) - AABEMEG T

X Ak E 2 T BER
HEIRE L XA F 0 A
A & A7 £2 0 3R 643 s B £
BB EEBXRES 0 BIE
X R FLAR LA B i H AR
A B R o) AL -

LB Ao h R EAT L ARF
B/ SR - A ER
%% %% 8 B Question
pour un Champion” (@&
EEE) - FRAZEMEY
IR HRmIREE T R
B A eIk By 82 LB F 0 3
F| A 35 A1 1 O 364 2 448 )
Lo B EZBIAES 0 R
S E ELAR LA ROBE A
EZ N EE P Eloks

S P AR -

(2) B sk & #3FIRA S
FEEhRARL RER
s SR A REAXELEZ
2k BN NEFEY B 4R o
(4225 % B/ BN E 3T
B mAMGE,H IS
A v ARFAE L A

EFIMLARSTE > Ld A
AL SR TR AN
S ® T L L AOE RN
W E IR ° LR FEER
A FREIIEARE ~ =X
o P RRPBUR KA
w84 %K% -

http://140.127.168.37/wtuc/zga pro/zgt002 prt.jsp?res id=3922

TR AR ©

2017/10/13



H3/4

AR ¥ & 32000 5 12 A #,
TPEZ A TREER M
LA 4 BT AR T2 52500
A )
Q)ES ML - M7 %

| et P TS
& B4R

EHAERK

&

LEMERA - GEEEARARE - 5B ]

BT P
R 0
e
104-1053-104% 2 A3t & 4 % 32,332 |39, 332
PN, 0
B 0
LA 0
P 32, 332

B A
worE | mw | TP R BRI e | omma | s

FBEE 5, 000 0 5,000| 5,000 0]13-1~3-2

HER AR

=R AR 138 0 249 249 -111 QR R

EEH

IR 6, 520 0 5805 5895 625]1-7-1-10

Ep R & 7,500 0| 4,360 4,360 3,140|2-3~2-8

E2EE 6, 000 0| 6,000| 6,000 0/1-4~1-6

A2 Bh 4 4,500 0| 4,500 4,500 0/1-1~1-3

29+ W E XA
#x 3, 922 0| 4,888) 4,888 966|210~ |mesmsEEz
33-35  |wa

I%A 1, 920 0| 1,440| 1,440 48012-1~2-2

= it 35,500 0] 32,332 32,332 3,168

S ARSI E RN Ty 2 T 2R P B —E L L iR 2

http://140.127.168.37/wtuc/zga pro/zgt002 prt.jsp?res id=3922 2017/10/13



H4/4

CEETHIE RS E R Y - BB IO T RS - R —IOEE TR
& > FSFEERIER -
fak © AREEIEBIAE R —(E H WEZHE R — 0% (GBLIARMNE RIS %

£) o

http://140.127.168.37/wtuc/zga pro/zgt002 prt.jsp?res id=3922 2017/10/13



